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A curve has equation arctan x* +arctan }* =

ISP

(2) Find % in terms of x and y

(b) Find the gradient of the curve at the point where
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(2) Use the identity cos26=2cos’ 61 to prove that cos%x ik

(b) Find a similar expression for sm%x 0sxsm Yol

(c) Hence find the value of j1

(ViFcosx ++1=cosx ) dx M
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Consider the fanction f(x) = LE SIS
X

The sketch below shows the graph of ¥ = f(x) and its tangent at a point A

¥ diagram not fo scale

(2) Show that f'(x)

(b) Find the coordinates of B, at which the curve reaches its maximum value.

(c) Find the coordinates of C, the point of inflexion on the curve

The graph of y = f(x) crosses the x-axis at the point A,

(d) Find the equation of the tangent to the graph of / at the point A

(¢) Find the area enclosed by the curve y = f(x), the tangent at A, and the line x=c
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The graphs of y and y=1-2sinx for 2<x<7 interscct at points A and B
The x-coordinates of A and B are x, and x5

(2) Find the value of x, and the value of %3 ik

(b) Find the area enclosed between the fwo graphs for x, <x<x; el
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Consider the curve with equation (x +»*

.
(@ Use implicit differentiation to find an expression for ;‘

(b) Find the equation of the normal to the curve at the point (1, 1)
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Particle A moves such that its velocity v ms™. at time ¢ seconds, is given by
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Sketch the graph of y=v(r). Indicate clearly the local maximum and write down
its coordinates.
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Use the substitution u =

 tofind | ar

Find the exact distance travelled by particle A between =0 and 1=6 seconds.
Give your answer in the form karctan(b), k, b€ R

Particle B moves such that its velocity v ms™ is related to its displacement s m. by the equation

(s) =aresin(VF)

@

Find the acceleration of particle B when s=0.1m
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